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55 H24 346 H31
76 8 H25 850 H31
363 H25 4®0 H31
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36 8 18 4.3 05
=2 W6 H30 H30 H30 H30 2 2 2 0 2
=106 W= i H28 H29 H28 H29 48 48 48 0 48
=3 W1y H29 H31 H29 Ha1 39 39 39 0 39
A 6770 H28 H30 H28 H30 17 17 17 0 17
A 350 H30 H31 H30 H31 8 8 8 0 8
A=B S H30 H31 H30 H31 34 34 34 0 34
A=BO H29 H30 H29 H30 24 24 24 0 6
179 H27 H30 H27 H30 % % % 0 %
1 0m H30 H30 H30 H30 12 12 12 0 12
5 H30 H30 H30 H30 1 1 1 0 1
4 H30 H30 H30 H30 1 1 1 0 1
40 40 H31 H31 H31 H31 17 17 17 0 17
=8 W Bm H27 H28 H27 H28 9 9 9 0 9
=308 W & H27 H28 H27 H28 11 11 11 0 11
= 505 W &m H27 H28 H27 H28 63 63 63 0 63
= 400 W 4m H27 H29 H27 H29 80 80 80 0 80
= 652 W= &m H27 H29 H27 H29 63 63 63 0 63
L= 338 W= ® 50m H27 H28 H27 H28 38 38 38 0 38
L= 401 W= B H27 H28 H27 H28 10 10 10 0 10
L= 104 H27 H28 H27 H28 24 24 24 0 24
L= 351 W= 1n® H30 H31 H30 H31 19 19 19 0 19
=302 W= @m H28 H29 H28 H29 18 18 18 0 18
= 244 W\ Bm H27 H29 H27 H29 60 60 60 0 60
A=2 T H27 H30 H27 H30 12 8 12 8 12 8 0 12 8
A= 882 H27 H28 H27 H28 38 38 38 0 36
A=P 8 H28 H30 H28 H30 50 50 50 0 50
A=1 8 H27 H30 H27 H30 12 12 12 0 12
3742 3742 3742 0 368
(A+B) 36 8
o
A= 276 H27 H28 50
1900 H29 H30 39
70 H29 H30 17
H29 H30 6
H30 H30 6
H31 H31 6
H27 H27 10
13
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